Name:

Date:

Teacher:

Class:

Subtraction 506

Why did the barber win the race? Because he took a short cut.

Subtract these numbers to find the total.

Some questions involve trading.

145,099 2 36,680 3 65,286 4 85,707 > 51,828 6 77,055
— 8,688 — 24,499 — 47,217 — 6,286 — 24,038 — 19,526
7 69,365 8 87,994 9 37,408 10 30,912 1 57829 12 70,326
— 15,735 - 6,769 — 8,326 — 9,645 - 6,162 — 53,521
13. 26,469 14 16,492 15 48,944 16 53386 17 62,636 18 28,756
- 3,873 - 12,860 - 4,118 - 9,891 — 5,200 — 20,925
19. 33,796 20 21663 21 229088 22 06,282 23 79,382 24 06,453
— 1,468 — 4,835 - 13,167 — 8,840 — 50,432 - 9,918
25 34564 26 59023 27 72653 28 82033 2% 93,569 30 57,039
— 22,884 — 56,258 - 70,239 — 29,845 — 8,595 — 42,399
3. 29,161 32 13,182 33 29,758 34 69,769 35 24,354 36 88,398
— 24,861 - 6,672 - 9,078 - 5,835 - 9,198 — 66,367
37. 87,073 38 37,448 39 32,045 40 85514
— 9,914 - 37,414 — 6,555 — 5,466
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Answer Key

Date:

Teacher:

Class:

Subtraction 506

Why did the barber win the race? Because he took a short cut.

Subtract these numbers to find the total.

Some questions involve trading.

145,099 2 36,680 3 65,286 4 85,707 > 51,828 6 77,055
— 8,688 — 24,499 — 47,217 — 6,286 — 24,038 — 19,526
36,411 12,181 18,069 79,421 27,790 57,529
7 69,365 8 87,994 9 37,408 10 30,912 1 57829 12 70,326
— 15,735 - 6,769 — 8,326 — 9,645 - 6,162 — 53,521
53,630 81,225 29,082 21,267 51,667 16,805
13. 26,469 14 16,492 15 48,944 16 53386 17 62,636 18 28,756
- 3,873 - 12,860 - 4,118 - 9,891 — 5,200 — 20,925
22,596 3,632 44 826 43,495 57,436 7,831
19. 33,796 20 21663 21 229088 22 06,282 23 79,382 24 06,453
— 1,468 — 4,835 - 13,167 — 8,840 — 50,432 - 9,918
32,328 16,828 9,821 87,442 28,950 86,535
25 34564 26 59023 27 72653 28 82033 2% 93,569 30 57,039
— 22,884 — 56,258 - 70,239 — 29,845 — 8,595 — 42,399
11,680 3,665 2,414 52,188 84,974 14,640
3. 29,161 32 13,182 33 29,758 34 69,769 35 24,354 36 88,398
— 24,861 - 6,672 - 9,078 - 5,835 - 9,198 — 66,367
4,300 6,510 20,680 63,934 15,156 22,031
37. 87,073 38 37,448 39 32,045 40 85514
— 9,914 - 37,414 — 6,555 — 5,466
77,159 34 25,490 80,048
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